GENERAL NOTES:

1. 0.050” SOLID BERTHA ALUMINUM STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P. E. D.) HAS BEEN VERIFIED FOR
COMPLIANCE IN ACCORDANCE WITH THE 2003 EDITIONS OF THE INTERNATIONAL BUILDING CODE, (I.B.C.) AND INTERNATIONAL RESIDENTIAL
CODE, (I.R.C.) WITH THE 2003 TEXAS REVISIONS, EFFECTIVE JANUARY 1, 2005.

0.050" SOLID BERTHA ALUMINUM STORM PANEL SHALL BE INSTALLED AT SEAWARD AND INLAND AREAS, AS DEFINED BY THE TEXAS
DEPARTMENT OF INSURANCE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE INTERNATIONAL BUILDING CODE, FOR A BASIC WIND SPEED AS

REQUIRED BY THE JURISDICTION WHERE SHUTTER WILL BE INSTALLED, AND FOR A DIRECTIONALITY FACTOR Kd=1.13, IN ACCORDANCE W/
ASCE 7—02 STANDARD AND SECTION 1605.3.2 OF THE I.B.C.

0.050” SOLID BERTHA ALUMINUM STORM PANEL ADEQUACY FOR IMPACT AND CYCLIC RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTIONS 1609.1.4 AND R301.2.1.2 OF THE ABOVE MENTIONED CODES, RESPECTIVELY, AS PER AMERICAN TEST LAB REPORTS #
1022.01—-96 AND # 0221.01-01, PER FLORIDA BUILDING CODE PROTOCOLS TAS—201, TAS—202 AND TAS-203.

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052—-H32 ALLOY OR 3004—H34 ALLOY.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY AND TEMPER, WITH Fy = 25.0 ksi MINIMUM (UNLESS
OTHERWISE NOTED). THE THICKNESS OF ALL EXTRUSIONS SHALL BE AS SHOWN ON THIS DRAWING WITH STANDARD TOLERANCES IN
ACCORDANCE WITH THE "ALUMINUM STANDARDS AND DATA 2003 EDITION”, ALUMINUM ASSOCIATION INCORPORATED, WASHINGTON D.C.

4. ALL SCREWS & BOLTS INSTALLED AT SEAWARD AREAS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES AND MEET ASTM A167, OR HOT
DIPPED GALVANIZED (AFTER FABRICATION) CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED GALVANIZED OR
GALVANNEALED (PRIOR TO FABRICATION) AND MEET ASTM A653 WITH 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH, PER 2003
TEXAS REVISIONS TO SECTION 1716.1.1 OF THE 2003 |.B.C. AND SECTION R324.1.1 OF THE 2003 I.R.C.

5. ALL SCREWS & BOLTS INSTALLED AT INLAND | AREAS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES AND MEET ASTM A167, OR HOT
DIPPED GALVANIZED (AFTER FABRICATION) CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED GALVANIZED OR
GALVANNEALED (PRIOR TO FABRICATION) AND MEET ASTM A653; HOT DIP GALVANIZED OR ELECTRO GALVANIZED PER ASTM AB41,
MECHANICALLY DEPOSITED ZINC COATINGS PER ASTM B695 OR ELECTRO DEPOSITED ZINC COATINGS PER ASTM B633, PER THE 2003 TEXAS
REVISIONS TO SECTION 1716.1.2 OF THE 2003 I.B.C. AND TO SECTION R324.1.2 OF THE 2003 I.R.C.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE:

—1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY I.T.W./BUILDEX (REGULAR OR 410 S.S.) AND ELCO TEXTRON (REGULAR).
—1/4"¢ CRETE—FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.

—1/4"¢ CF TAP—GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—FAST CORPORATION.

—1/4"¢ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY THE POWER FASTENERS, INC.

—1/4"¢ x 7/8" CALK—IN ANCHORS, 1/4"¢ ELCO male & female "PANELMATE” OR 1/4"¢ ELCO male "PANELMATE PLUS” AS
MANUFACTURED BY THE POWER FASTENERS, INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
A.1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS OR CRETEFLEX SS4 IS 1 3/4"; FOR ZAMAC NAILIN IS 1 3/8";
FOR CF TAP—GRIP ANCHORS IS 1 1/4"; FOR ELCO PANELMATE AND ELCO male "PANELMATE PLUS” IS 2".

A.2) 7/8"¢ CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO SHALL BE
PERMITTED.

—1/4"¢—20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO EXIST, AND 1” MINIMUM FOR WALLS WITH NO STUCCO.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) &
A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:

—1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY I.T.W./BUILDEX (REGULAR OR 410 S.S.) AND ELCO TEXTRON (REGULAR).
—1/4"¢ CRETE—FLEX SS4 ANCHORS AS MANUFACTURED BY ELCO TEXTRON.

—1/4"¢ CF TAP—GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—FAST CORPORATION.

—1/4"¢ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY THE POWER FASTENERS, INC.

—1/4"¢ x 7/8" CALK—IN ANCHORS, 1/4"¢ ELCO male & female "PANELMATE” OR 1/4"¢ ELCO male "PANELMATE PLUS” AS
MANUFACTURED BY THE POWER FASTENERS, INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, ZAMAC NAILIN, CF TAPGRIP, ELCO PANELMATE, ELCO male "PANELMATE PLUS” AND
CRETE—FLEX SS4, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4".

B.2) —7/8"¢ CALK—IN ANCHORS SHALL BE ENTERILY EMBEDDED INTO THE CONCRETE BLOCK UNIT.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
—1/4"¢—20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO EXIST, AND 1” MINIMUM FOR WALLS WITH NO STUCCO.

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B.1) & B.2) ABOVE.

(C) TO EXISTING WOOD FRAME BUILDINGS, SEE SPECIFICATIONS ON SHEETS 12, 13, 14 & 15 OF 15. ANCHORAGE SHALL BE PERFORMED
BEYOND ANY FINISH MATERIAL AT WALL LIKE BRICK VENEER, STUCCO OR ANY OTHER FINISH.

(D) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR’S MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 16 (SHEET 3 THRU 7
OF 15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. CONTRACTOR TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUILDING DUE TO THEIR FASTENING TO IT, TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL
AROUND FULL LENGTH.

9. 0.050” SOLID BERTHA ALUMINUM STORM PANEL SHALL COMPLY WITH SPECIFICATIONS INDICATED IN THIS DRAWING PLUS ANY BUILDING
AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

10. (a) THIS PRODUCT EVALUATION DOCUMENT (P. E. D.) PREPARED BY THIS ENGINEER IS GENERIC AND
DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i. e. WHERE THE SITE CONDITIONS DEVIATE
FROM THE P. E. D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE
SAFETY OF THIS PRODUCT, BASED ON THIS PRODUCT EVALUATION DOCUMENT, PROVIDED HE/SHE DOES NOT
DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE
CONTRACTOR’S RESPONSIBILITY.

(c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A REGISTERED ENGINEER OR ARCHITECT

WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE
FOR THE PROPER USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE
P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER
OF RECORD THAT PREPARED IT.

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
iILTEC O ine EASTERN METAL SUPPLY, INC oue
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phene : (305)87;-_51_55000;;)(7 9 (305)871_1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. 1 |GENERAL NOTE # 2[1/28/05] 5
FLORIDA Lic. # 44167 2 | SHEET 1 OF 15




14.845” (TOTAL WIDTH)
12.000” (EFFECTIVE WIDTH)

1.500° *‘ /_J»*4.500" i7'500 [ 4.500" ‘ ‘« .500”
|, TG AS APPLICABLE ‘ i
N, (Typ) \}N . N
.
7 2, P8 ©
3 AR

WV
N} f
| 2.125” |~—3.891"——~| 2.125”
FULL PANEL W/ HEMMED EDGES
15.119” (TOTAL WIDTH)
12.000” (EFFECTIVE WIDTH)

1.500 '*‘ 4.500" i7'500 ‘ 4.500" ‘ ‘« .500”
(2 AS APPLICABLE ‘ |
/ (Typ.) .

/

S

500
—~| 2.250’

—~| 2.125” |~—3.891"——~] 2.125”" |—

OPTIONAL FULL PANEL W/O HEMMED EDGES

8.845” (TOTAL WIDTH)

—| 6.000"(EFFECTIVE WIDTH) |-

1.5007 — 4.500" 7.500"
12 AS APPL/C‘ABLE |
(Trp.) % . s
2 o _ 19 jw)
J7R ]
& S < N
v © ¢

—~| 2.125”

HALF _PANEL W/ HEMMED EDGES

9.119” (TOTAL WIDTH)

1.500[" — 4. 500

12 AS APPL/CABLE

| 6.000”(EFFECTIVE WIDTH) |~

71.500"

i)
)
Q
S

/ \ T

—~| 2.125”

— 2.250" =

OPTIONAL HALF PANEL W/0 HEMMED EDGES

(D SOLID STORM PANEL

~Max. PANEL LENGTH (SEE SCHEDULE 9)—

SCALE : 1/4” =
743"—‘ CONCRETE ANCHORS (SEE SCHEDULE) “M?"»
1 ‘ijf):(n 7 Aaxf):(n
o o o o
d A
A A
4
M,f—ff@//
4 A
Y b v
] [© o o | |
‘«Mj"—l CONCRETE ANCHORS (SEE SCHEDULE) ‘*MJ"J
ax. ax.
1 Min. SOLID STORM PANEL ! Min.
TYPICAL ELEVATION
N. T. S.

‘« 1/4” Max. GAP

1/4” Max. GAP

Y

SECTION A-A

N. T. S

m\/\ﬁ\/\ﬁ‘\/\/“é

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
iILTEC O .. EASTERN METAL SUPPLY, INC oure
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305) 57;'_51—5-5%06/‘—;)(79 (305)871-1531 REV. No DESCRIPTION [ oare | rev.no DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. 1 PANEL LP___ [8/21/07] 3
FLORIDA Lic. # 44167 2 | y SHEET 1A OF 15




2
3.000" Max. 2.470" | § S 2147
2.470" S .
__I_| A 125" 2.470" ‘ =9 |
Ty 4 T 3 o R.250" ]—‘—':
L 2 » L
:0)35' ) 3 %s N N ; 2 125 F *2? . N 3747 .188
R Vi k250" 8 | | R.250 : N © R.125 [188 125" Mox—
- T T 3 2 R.125” 500" Min.
? B ( 3 o ¥ 3 -
5 “rizsr 1) % 5 ! . 2 . 11835 T 1y — —
R S N Y 125" R.200 N gz [g N 8 A g ' Y
; ® T T s p g —X J :
M2 S X*g ™ R.125 3 ¢§ |18 : 4 !
9 TT8 « 8 =|—975" 2 Q8 ) 200" Q R.062" N .
e, S ~ 075"~ |8 N - S l : T o
1 | i FULL R, .384 1 = I
S . 2.250 3000 |
2.250” ! 250" FULL R. 2.591
2.591" .
2.591"

@ _“U” _HEADER &) 3”7 ANGLE BUILD OUT BRACKET ® _F”_IRACK 6A 1_1/4” MAX. B. O.

@ “h” HEADER SCALE : 3/8" = 1" SCALE : 3/8" = 1" SCALE : 3/8" = 1" ”E” TRACK
SCALE : 3/8" = 1" @ 3” Max. “U” BUILD OUT SCALE : 3/8" = 1*

SCALE : 3/8” = 1"

.750"

/4" 8 S. S. STUD

—l |——.093” 1/4" 0 S. S. STUD ) 091" __ | —750% RIVETED TO ANGLE
RIVETED 70 ANGLE S a2 ™ 125 « @127 0C
g @ SPACINGS SHOWN @ 12" 0. C. I J
0 ON SECTIONS. o ALTERNATE
L0 B LEG LOCATION
8 - | X
S ¥ 5 y [ g
ALTERNATE N S SEE ] o
LEG LOCAT/O?\ l : 5 DETAIL 1 R R
— N T *‘_652.V C-__-__-—_—_-—_——————————1 t Y
R.125" . 2000 5.000”
" " (MAX.)
o 2 (9 .STUDDED ANGLE 2 ANGLE WITH STUD (10) 2°x5"(MAX.)x1 /8"
SCALE : 3/8" = 1" SCALE : 3/8" = 1" 6063=T5 Alum. ALLOY X. 22X
SCALE : 3/8" = 1" SCALE: 1/2" = 1"
SCALE: 3/8" = 1"
0.344
0.344 .
. N
g T ~
ALUj/m" = ‘ "
INUM (3) 5/8"¢ HOLES RS .
PLATE AT TOP LINE ] 3 N o |
| NS
. -~ - ‘
I o l\ _ A _ O o \ ‘ <
Ay Ay o ©
8
e hX
2) 5/16” HOLES YL 957 ”
(A;' BéTTOM LINE = NS 2.625" 2.625 t = Min. .085
FOR 1/4°8—20x1" ©
S.S5. MACHINE
SCREW TAPCONS
o — _ _ N @ KEY HOLE AT PANEL @ KEY HOLE WASHER
I =N 3105—-H154 Alum. ALLOY
H , SCALE : 3/4” = 1”
3/16" —||—
»_| » »oL .063"
! 2 ! :| |-|:—.o94"
14" _
@ 3/16"x7"x14” LONG WALL PLATE . L] i
SCALE: 3/16" = 17 "p) ] § '§ 7.D..—2003
' 0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
I I i (2.25” DEEP) SCALE
—  |—.1875" 1/17/05
COMPONENTS 5 ILIEco EASTERN METAL SuppLY, iNc | o
INC. 9400 TELGE ROAD
DETAIL 1: stup w/ WiNG NUT TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305) 57;'_51—5-5%06/‘—;)(79 (305)871-1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. 1 3
FLORIDA Lic. # 44167 2 7 SHEET 2 OF 15




CONCRETE ANCHORS
(SEE SCHEDULE) ~_

—e
Q
POURED W
CONCRETE
REQUIRED <

.500”

SEE SCHEDULE FOR
Min. SEPARATION
7O GLASS

|

N

POURED—/

CONCRETE

OR CONCRETE |
BLOCK WALL
REQUIRED

]

—

 —

N

CONCRETE ANCHORS
(SEE SCHEDULE)

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

SECTION @ ANCHOR

POUREI D/-l

« CONCRETE
. OR CONCRETE
W BLOCK WALL
REQUIRED

o
|
O
|
|

| WING NUT @
EVERY STUD
@ 12”7 0. C.

|

7/8" x 3/32"

Max. PANEL LENGTH (SEE SCHEDULE)—

:‘:l_—r§

>
o
s

\—@ Cont.

SECTION @ STUD

WALL MOUNTING INSTALLATION

SECTION 1

NOTE : DETAIL OF SECTION

SCALE : 3/8" = 1"

@ STUD VALID ALSO FOR

WALL MOUNTING INSTALLATION — SECTION 2 (TOP)

CONCRETE ANCHORS
(SEE SCHEDULE) x

| —

Q
POURED W
CONCRETE

REQUIRED \

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

‘ vV

1/4" 9-20 x 3/4"
goLTs w/ 7/8" x
3/32" WING 'NUT @

72"0. C.
POUR’ED—/
CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

_

/Qﬁ ks

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

- /
CONCRETE ANCHORS-

(SEE SCHEDULE)

WALL MOUNTING INSTALLATION

SECTION 2

SCALE : 3/8”" =

E D =

EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

77

CONCRETE ANCHORS

(SEE SCHEDULE)

500"

CONCRETE ANCHORS
(SEE SCHEDULE)

N

.250"
Max.

CONCRETE ANCHORS

(SEE SCHEDULE)

5 |
POURED "
CONCRETE ‘ ‘ ‘
R‘EOU/REDK
SEE SCHEDULE FOR ‘ ‘ ‘
Min. SEPARATION
TO GLASS ‘ ‘ ‘
| A [ ]
I\ I\
| V ]
1/4” 8-20 x 3/4” ‘ ‘ ‘
BoLTS W/ 7/8% x
3/32" WING NUT @ ‘ ‘ ‘
‘ 12”0, C.
rourer—" | |
CONCRETE
OR CONCRETE ‘ ‘ ‘
BLOCK WALL i
REQUIRED
(A | .
©
— — v
— a1

BUILD OUT INSTALLATION

Cont.

POURED
CONCRETE

REQUIRED \

E.

T
.500”

Min. SEPARATION

SEE SCHEDULE FOR ‘
70 GLASS ‘
\

A
N
A\l

7/8" x 3/32"
WING NUT @

EVERY STUD
@ 12" 0. C.

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

POUR’ED—/

CONCRETE
OR CONCRETE

REQUIRED

D.

BLOCK WALL W

o

Cont.

T

1.126"

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

|

T

.500”

(SEE SCHEDULE)

SECTION 3

NOTE FOR COMBINATION OF SECTIONS :

WALL MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SCALE : 3/8" =

7"

h
W H
CONCRETE ANCHORS

BUILD OUT

(10) cont. t

Min. l_

1/4” 8-20 M. S.
W/ NUT @ 127 0. C.

INSTALLATION

SECTION 4

SCALE : 3/8" =

7"

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I"_ I ECO inc EASTERN METAL SUPPLY, INC DATE
: 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305) 57;'_51—5-5%06/‘—;)(79 (305)871-1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. ! 3
FLORIDA Lic. # 44167 2 y SHEET 5 OF 15




CONCRETE ANCHORS

(SEE SCHEDULE) ~_

|

i

1/4” 6-20 S. S. MACHINE
BOLT W/ NUT & WASHER
@ 127 0. C.

1”7 Min

Max.

2

!

&

— o

Cont.

IS
POURED u | I
CONCRETE \ \ \
REQUIRED ‘ ‘ ‘
N\ | o
| | |
\ \ |
| | |
SEE SCHEDULE FOR \ [
Min. SEPARATION | | \
TO GLASS ‘ ‘ ‘
| | |
‘ /\ \ \ \
\ /\f \ \ \
| | |
7/4 2-20 x ‘-?/ 4" | | |
‘ BOLTS W/ 7/8
3/32" WING NUT \ \ \
‘ @ 12”7 0. C. | ‘ ‘
ALTERNATE | ‘ |
‘ LEG LOCATION \ L
| | |
\ -
\ \
\ \
POURED—/ L
CONCRETE h
OR CONCRETE \ \
BLOCK WALL & | |
REQUIRED
— |

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

T — []

CONCRETE ANC‘HOR‘S/

(SEE SCHEDULE)

BUILD ouTr

. S. MACHINE
& WASHER

INSTALLATION

SECTION 5

E. D =

EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

SCALE : 3/8" =

1

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS

(SEE SCHEDULE)
\ﬁ
POURED CONCRETE

REQUIRED \ — EO'_TT EQ.—
‘ T [ T Q %
| (R
‘ \ \ |-
\ \ \
— : ) Cont.
‘ \ \ \
\ \ |
‘ \ \ \
\ \ \
‘ \ \ \
\ \ [— )
‘ \ \ \
\ \ \
‘ \ \ \
A l l
N
‘ V I I I
\ \ \
\ \ \
SEE SCHEDULE FOR| ‘ ‘
Min. SEPARATION ._()
TO GLASS \ \ |
\ \ \
‘ ! | | 7/8" x 3/32”
\ \ | wine NUT @
‘ 1 L —Arevery st
@ 12” 0. C.

Cont
| 1—[%%0»

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

b
1.125" Min. NF
A '
" :l
POURED C‘ONCRETEJ 1
REQUIRED it
CONCRETE ANCHORS / E D.
(SEE SCHEDULE)

CEILING & FLOOR MOUNTING

INSTALLATION

SECTION 6

SCALE : 3/8" = 17

I
CONCRETE ANCHORS D

(SEE SCHEDULE)
POURED CONCRETE \ \

REQUIRED —__ 4,, |

r
\
\
\
MJJ (T}
‘ALTERNATE j S
N'=

LEG' LOCA TION

‘ e Cont. }

1/4” 8—20 x
3/4” BOLTS W/
‘ 7/8” x 3/32”
WING NUT @
‘ 12" 0. C.

|

|

|

|

|

|

\ |

[

| ‘

_lSEE SCHEDULE FOR |
Min. SEPARATION |

|

| |

|

| |

|

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CALK—IN OR
ELCO male/female
PANELMATE OR CF TAP—GRIP

(SEE SC‘HEDULE)\

POURED
CONCRETE Q
OR CONCRETE
BLOCK WALL

REQUIRED \

SEE SCHEDULE FOR

\
'l Min, SEPARATION
\

*——

70 GLASS 70 GLASS
7 4 ?-20 x
‘ 3/4 BOLTS W/ @ _/
e wie  Jp CONCRETE !
‘ 127 0. ¢ Ll OR CONCRETE
.750” BLOCK WALL W
‘ ‘ Min| REQUIRED
i f
_(;% |
—1"H| ==7F 750"
POURED CONCRETE i / Min.
REQUIRED !
L CALK—IN OR
CONCRETE ANCHORS/ ELCO male/female
(SEE SCHEDULE) £ D PANELMATE OR CF TAP—GRIP

CEILING & FLOOR MOUNTING

INSTALLATION

SECTION 7

SCALE : 3/8" = 17

(SEE SCHEDULE)

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

WALL MOUNTING INSTALLATION (D. M.)

SECTION 8

SCALE : 3/8" =

77

EB-0006719
WALTER A. TILLIT Jr. P. E.
FLORIDA Lic. # 44167

REV. No DESCRIPTION DATE

REV. No

DESCRIPTION

DATE

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
|||_ I ECO nc EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305)871-1530 . Fax : (305)871—1531 DRAWING No

3

4

SHEET 4 OF 15




CONCRETE ANCHORS
(SEE SCHEDULE)

T—E=_

POURED

CONCRETE
REQUIRED ‘\

EXISTING /

GLASS

SEE SCHEDULE FOR

TO GLASS

.250"
Max.

CALK—IN OR ELCO male/female PANELMATE

OR ELCO male/female PANELMATE PLUS

B

1/4"8—-20 SIDEWALK BOLT OR @

W/1/4°8—20 TRUSSHEAD BOLT + +

(SEE SCHEDULE FOR SPACING)

v

_" Min. SEPARATION

1/4” 8-20 x 1” S.S.M.S.
W/ 7/8" 8 x 3/32”
WING NUT @ 12 0. C.

POURED —/

CONCRETE

OR CONCRETE
BLOCK WALL Q
REQUIRED

42

Cont.

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

CONCRETE ANCHORS J
(SEE SCHEDULE)

WALL MOUNTING INSTALLATION

SECTION 9

SCALE : 3/8" = 1"

E. D. = EDGE DISTANCE
(SEE_SCHEDULE ON

SHEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

a
POURED ‘“'

CONCRETE

REQUIRED

CALK—IN OR ELCO male/female PANELMATE

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

| \

‘ Vv

1/4” 8-20 x 1”7 S.S.M.S.

W/ 7/8" o x 3/32" |

WING NUT @ 12" 0. C.

POURED —/

CONCRETE

OR CONCRETE
BLOCK WALL Q
REQUIRED

4

CONCRETE ANCHORS J
(SEE SCHEDULE)

SECTION 10

SCALE : 3/8" = 1"

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

+ +
SIDE WALK BOLTS ARE 3/4"8x3/32"THICK
HEAD MACHINE SCREW W/LENGTH

AS PER NOTES A2 & B.2 (SHEET 1)

+ +
TRUSS HEAD BOLTS ARE 1/2°8x1,/8"THICK
HEAD MACHINE SCREW W/LENGTH

AS PER NOTES A2 & B.2 (SHEET 1)

WALL MOUNTING INSTALLATION

CONCRETE ANCHORS

OR ELCO male/female PANELMATE PLUS E D.
1/4°8-20 SIDEWALK BOLT OR @ (SEE SCHEDULE)
% /43 W/1/476-20 TRUSSHEAD BOLT + + POURED
(SEE SCHEDULE FOR SPACING) CONCRETE "
7/8"8 x 3/32” REQUIRED 1
WING NUTS @ 12" O.C. BT EQ
T T N
L f =
o \ '3
| \ ]
| \ |
| \ |
Q: } } } ‘ | | | —@Cont.
POURED n ‘ | ‘ N
CONCRETE | | | ‘ 1 \ \
REQUIRED = :)
| @ R } L 5
| ‘ . 5 | | o s
‘ o 5 | o E
‘ o g | | | g
| | | 2 SEE SCHEDULE FOR | \ | |
SEE SCHEDULE FOR 2 | : 2
1 Min. SEPARATION }“ } } % ~  Min. SEPARATION —| | | 2
TO GLASS S TO GLASS | | | 3
| N g ol ’
[‘% Q ‘ l\x T T T lilu)
\ \ [ T | | =
| o g | | o 5
| | o g | o g
\ | o | | -
| | o < | | o g
7/8" 8 x 3/32" | | | 'l. ‘ | | ‘ &
‘ ey Sup | b 8 7/8" o x 3/32" | . X
@ 12" 0. C. | . VNG NUT © | N O) =
\ O | EVERY STUD | o
4 ‘ L ‘ @ 12" 0. C L
POURED s | o il .
CONCRETE _ | b ‘ | I
OR CONCRETE ‘i il | cort ‘ ‘
s g 1 s S
_ QX ALTERNATE LEG 3 S » 3
e Q= | Locarion & [\ RS | 8=
7 .875 | | | M— rm—
CONCRETE ANCHORS ] — > f e '
(SEE SCHEDULE) f %% % A DG OF
I POURED W A K sias 7
| CONCRETE I APPLICABLE
Cont. L REQUIRED L
CONCRETE ANCHORS ‘k ep ]
(SEE SCHEDULE) "
ALE : v=
SCALE = 3/8 INSTALLATION SECTION 12
SCALE : 3/8" = 1”
7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I IL I ECOne EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305) 57;'_51—5-5%06/‘—;)(79 (305)871-1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. 3
FLORIDA Lic. # 44167 ; < SHEET 5 OF 15




1 1/4” MIN.
PENETRATION TO

& 2" TO CONCRETE

12” 0. C.

EXISTING

FLASHING AS

I
\
\
\
\
\
CONCRETE BLOCK W |
\
|
\
\

|
\
\
|
|
APPLICABLE }
|
|
\
\
|

YV A
4 <
4 pay
\EX/ST/NG
1 1/4" M. L o BRICK VEENER
PENETRATION TO MAX
CONCRETE BLOCK |
& 2" TO CONCRETE
+ —
4 4
< a s
bbby Db i 3 Cont. S %
o o & 88
<7 N$§
| ‘ @ \' —
<
/ | o
| \ |
| \ |
| \ |
| \ |
v o | \ |
POURED CONCRETE / 1/4°0x8” ELCO male L EXISTING ‘ ‘ ‘
OR CONCRETE BLOCK PANELMATE TVAS ANCHORS STEEL ANGLE LINTEL
WALL REQUIRED (SEE SCHEDULE FOR SPACING). AS APPLICABLE } } }
[ 4)
[ | \ |
L A, /&\ |
[ % [ [ \
| | SEE SCHEDULE FOR ‘ ‘ ‘
‘ Min. SEPARATION
% TO GLASS | . ;O
| \ | S
]
| \ | z
\I | \ | Q
| \ | W
~
EXISTING | | | o
BRICK SILL ‘ ‘ ‘ Y
- 1/4” 8-20 x 3/4” | | | g
BOLTS W/ 7/8"@x ‘ ‘ ‘ %
3/32” WING NUT @ —— | | g
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ |
| |

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

1/4’9x8” ELCO male

BUILD OUT INSTALLATION
SECTION 13

SCALE : 3/8" = 1”

1
/ 3 1/
Max.
EXISTING

BRICK
VEENER

PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SPACING).

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS :

WALL MOUNTING SECTIONS CAN BE

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS
(SEE SCHEDULE)

Q
] .
= o=f 2%
N
R
!
q
POURED W
CONCRETE
REQUIRED \ Cont.

EXISTING
GLASS

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

°

v

ST

1/4” 8-20 x 1” S.S.M.S.
w/ 7/8" 8 x 3/32”
WING NUT @ 12" 0. C.

POURED /

CONCRETE

OR CONCRETE
BLOCK WALL Q
REQUIRED

E.

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

[ -
CONCRETE ANCHORS
(SEE SCHEDULE)

&

SECTION 14A

CONCRETE ANCHORS
(SEE SCHEDULE)\

Tt _

POURED

IS
¥
CONCRETE
REQUIRED \

.250”
Max.

.

EXISTING

Min. SEPARATION
TO GLASS

e

9)

DETAIL 2/7

1/4” 8-20 x 1” S.S.M.S.

\
\
|
GLASS ‘ SEE SCHEDULE FOR
\
\
\
\
\
\
\
\
\
\

w/ 7/8" 8 x 3/32"
WING NUT @ 12” 0. C.
\

POURED —/

CONCRETE

OR CONCRETE
BLOCK WALL qQ
REQUIRED

CONCRETE ANCHORS
(SEE SCHEDULE)

Cont.

SECTION 148

WALL MOUNTING INSTALLATIONS
SECTIONS 14

SCALE : 3/8" = 1~

/ "L” Max. PANEL LENGTH (SEE SCHEDULE, SHEET

CONNECTED TO

INTERIORLY REMOVABLE PANEL@X/

THRU 5/87s

SIDEWALK BOLTS@?EE DETAIL 2)

HOLES AT
AT REAR W] 7/870x3/32” WING NUT

@ 6" 0.C & FASTENED

@ EVERY SIDEWALK BOLT.

7.D.1.—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I"_ I ECO inc EASTERN METAL SUPPLY, INC DATE
: 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305) 57,:1-_51_5‘5%06F;)}9 (305)871-1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. ! 3
FLORIDA Lic. # 44167 2 y SHEET 6 OF 15




CONCRETE ANCHORS
(SEE SCHEDULE )\
.

POURED CONCRETE

REQUIRED \

fEO.T‘TEO.a

-

7O GLASS

250
Max.

—@ Cont.

@_.

SEE SCHEDULE FOR
Min. SEPARATION [
‘ Cont.

|

-®

7/8" 8 x 3/32"
WING NUT @

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

POURED CONCR‘ETE/

REQUIRED

CONCRETE ANCHORS

(SEE SCHEDULE )

SECTION 15A

EDGE OF
|=—SLAB IF
APPLICABLE

CONCRETE ANCHORS

(SEE SCHEDULE )
\

POURED CONCRETE

REQUIRED \

*EO.T‘T £Q.—

E. D

-

SEE SCHEDULE FORL—
Min. SEPARATION

7O GLASS

\
\
A

.2507
Max.

—@ Cont.

4

3/

DETAIL
—

o

@_.

Cont.

[

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

7/8" @ x 3/32"
WING NUT @
~ EVERY STUD
@ 12" 0. C.

|

|

|

|

|

|

‘ JA\J
| |
|

|

|

|

|

|

|

|

|

i
=§
7
POURED CONCRETE

REQUIRED \
CONCRETE ANCHORS /

EDGE OF
-—SLAB IF
APPLICABLE

(SEE SCHEDULE ') |

SECTION 158

CEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 15

.1875”
O[]
7/8" ¢ x 3/32” .
WING NUT @
@ 6" 0. C. ‘>\
1
S . N\ — =—h |
2 N %)
g5 MH I
J
18757 ]
-
—l— 050"
A

SCALE : 3/8" = 1"

1/4"-20x1" S.S. SIDEWALK BOLTS,
W/3/4” SLOTTED HEAD, FIXED TO
INTERIORLY REMOVABLE PANEL @
@ 6” O.C.

THRU KEY HOLE
W/ 1/4"-20 NUT AT REAR.

SCALE: 1”7 = 1"

REMOVABLE

PANEL

E. D.

INTERIORLY REMOVABLE PANEL (1) W/
SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED TO THRU 5/8"%

HOLES AT@ @ 6” 0.C & FASTENED

AT REAR W7 7/8"0x3/32” WING NUT

@ EVERY ‘SIDEWALK BOLT.

INSTALLATIONS VALID FOR PANELS

CONCRETE ANCHORS

(SEE SCHEDULE )\
POURED

CONCRETE ANCHORS
(SEE SCHEDULE )

h\:

E D.
POURED
CONCRETE H CONCRETE il
REQUIRED REQUIRED o N
x ~— EQ.—i1~ EQ.—] £Q.—|T-EQ.
\r \ \\\ f | f | \\-\ N
olx ol x
‘ BRE » ]
‘ \ \ M-
| o | | o Cont.
‘ | | | —@Cont. ‘ ‘ ‘ —@ on
| | | | .
| R | P
| | | > | } } }
\ \ \ =
SEE SCHEDULE FOR o SEE SCHEDULE FOR ~
L Min. SEPARATION —| . 3 ‘— Min. SEPARATION —| | L@ ®
TO GLASS | | \@ @ TO GLASS | F 5
‘ | | | W \ \ \ T
[%)
| | | 2 ‘ \ \ \ "
| | o S | ] 4
S ‘ Al | \ 2
\ \ \ © A\ Q
| p L " = — 3
"V ‘ ‘ ‘ a DE TA{L 12 | ‘ | :
T NS | \ \ [y
| | o £ | N o 8
| | g i <
\ \ \ ~ ‘ \ \ 5
o \ \ \ 2
\ \ \ g ‘ ‘ ‘ |
” .| | | g 4
| e e | | s | o 2
o
EVERY STUD | | \<@ s ‘ | o <
‘ @ 12" 0. C. | | | ‘ | \@ 5
L ‘ 7/8" 8 x 3/32" =
i L WING NUT @ | Lo
‘ EVERY STUD X | |
cont. | [ Pl ‘ @ 12" 0. C. | L
| aLteRNATE LEG %, P } } 88 1\ .
LOCATION N S . ‘
|/ ol | N 19 .
R T cont. ¥ Lol
\ ‘ 1 _t s 3
W ! EDGE OF | ALTERNATE LEG 7, fe | 838
Ll L » SLAB IF LOCATION N os |
| N APPL/CABL# L e I [
| —— us T —
[ POURED [ W /‘ ' J/
CONCRETE  cONCRETE ANCHORS
REQUIRED / . I Il -

SECTION 16A

A\

(SEE SCHEDULE )

L'l pourep
L) CONCRETE
REQUIRED

SECTION 168

CEILING & FLOOR MOUNTING INSTALLATIONS

USED JOINTLY

WITH INTERIORLY REMOVABLE PANELS ﬁ; )

E. D =

EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 10 & 11 OF 15)

NOTE FOR COMBINATION OF SECTIONS :

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SECTIONS 16

SCALE : 3/8" = 1~

CONCRETE ANCHORS

(SEE SCHEDULE ')

‘k E.D.

INTERIORLY REMOVABLE PANEL
SIDEWALK EOLTS@EE DETAIL 2)

CONNECTED TO

HOLES AT
AT REAR W,

Owy -

THRU 5/870
@ 6” O.C & FASTENED
7/8"0x3/32" WING NUT

@ EVERY SIDEWALK BOLT.

EB-0006719
WALTER A. TILLIT Jr. P. E.
FLORIDA Lic. # 44167

REV. No DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I".IE C O ne EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305)871-1530 . Fax : (305)871—1531 DRAWING No

3

4

SHEET 7 OF 15




1/4” Max. GAP

1/4” Max. GAP

-

INTERIORLY REMOVABLE PANEL (DW/
SIDEWALK BOLTS (SEE DETAILS

2/7, 2/14) CONNECTED TO (1)) THRU
5/8"8 HOLES AT (1) @ 6" 0.C &
FASTENED AT REAR W/7/8°8x3/32”
WING NUT @ EVERY SIDEWALK BOLT.

SECTION B-B
SCALE : 1/8” = 17
@ 14B/6, P 144/6,
(WHOLE) (WHOLES) 15,168/7 1516477
BUT NOTCHED 1/4"-20x1" S.5.
EA CORNER @ SIDEWALK BOLTS.
SEE DETALS 2/7, ~( )
ASHOWN. , 2/15. \ (WHOLE)
V v /
11
(<) e e
S
v
N
N
o © 9 © o
T Lg or@on
P 148/6, Ly 144/6,
15,16B/7 15,16A/7
-3 CONCRETE ANCHORS (SEE SCHEDULE) 37
Max. Max.
7 Min. 17 Min.

INTERIORLY REMOVABLE STORM PANEL

PARTIAL ELEVATION Y

SCALE : 1/8" = 1”

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I".IE C O ne EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305)871-1530 . Fax : (305)871—1531 DRAWING No

EB-0006719
WALTER A. TILLIT Jr. P. E.
FLORIDA Lic. # 44167

REV. No DESCRIPTION | DATE REV. No

DESCRIPTION

DATE

1 PANEL LIP le/21/07] s

2 | 4

SHEET 8 OF 15




POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

CONCRETE ANCHORS
/ 12” 0. C.

CUT PANEL

<)

2" x 4" x .125™
3105-H14 OR 6063—T6 ALLOY
Cont. Alum. ANGLE

CASE A (Plan)

SCALE: 1/4” = 1”7

VARIES 5"
Max.

POURED CONCRETE ‘
OR CONCRETE BLOCK
WALL REQUIRED

‘ VARIES 5
o
BV

1/4” @ BOLT 4" x 4" x 072"
@ 24” 0. C. 3105-H14 OR 6063-T6 ALLOY
W,/JACKNUT Cont. Alum. ANGLE

CASE B (Plan)

SCALE: 1/4” = 17

O

CASE D (Plan)

2" x 3” x .093” 3105 H—14 OR
6063—T6 ALLOY Cont. Alum. ANGLE
WITH ANCHORS @ 12" 0. C.

HALF PANEL

SCALE: 1/4” = 17

POURED CONCRETE
OR CONCRETE BLOCK

WALL REQUIRED

CONCRETE ANCHORS

© 7270 & ——~__

o

2" x 2" x .055" TO

2" x 5" x .055" Cont.

Alum. ANGLE OR

.080” 3105—-H154 SHEET
METAL Alum. BENT PLATE

END CLOSURES DETAILS

MAXIMUM DESIGN PRESSURE RATING "W~ (p.s.f.) AND
CORRESPONDING MAXIMUM PANEL LENGTH "L” SCHEDULE

N

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

ALTERNATE LEG LOCATION

CASE C (Plan) \@

SCALE: 1/4” = 1”7

MAXIMUM DESIGN Max. PANEL LENGTH g?g%ﬁ%; Tgf
PRESSURE RATING L (ft. ) MINIMUM SEPARATION

e ( s f) (SEE SECTIONS) 70 GLASS ANY COMBINATION

p.s.f. OF THEM

+65.0, —77.0 8—0” OR LESS 2 1/4” 1 THRU 8
+65.0, =77.0 | 9'-0” OR LESS 3 11/16” 1 THRU 8
+65.0, =72.0 | 9'-0” OR LESS 3 1/27 11
+62.0, =73.3 | 10-0” OR LESS 3 7/8" 2,6 7&8
+63.5, —63.5 | 9'-0” OR LESS 3 1/2” 9, 14, 10
+65.0, —65.0 | 9—0” OR LESS 3 1/27 12, 15, 16
+63.5, —63.5 | 9'—0” OR LESS 3 3/4” 13

7.D.1.—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I"_ I ECO nc EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th, St, Ste. 217, VIRGINIA GARDENS, Fl. 33166
Phone : (305) 57,:1-_51_5‘5%06F;)}9 (305)871-1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. ! PANEL LIP 8/20/07 3

FLORIDA Lic. # 44167 2

4

SHEET 9 OF 15




MAXIMUM DESIGN PRESSURE RATING "W”

.s.f.) AND CORRESPONDING MAXIMUM ANCHOR
SPACING SCHEDULE FOR INSTALIATIONS IN CONCRETE AND CONCRETE BLOCK STRUCTURES

MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2"% APPLICABLE TO
DEnngXI\IIMtlgAD REGULAR TAPCONS CRETE-FLEX 554 ZAMAC NAILIN CALK—IN CF TAP-GRIP PANELMATES PANELMATE PLUS 410 S.S. TAPCON AzfcgggglNiﬂd({)N ﬁ:‘:ég-ﬁM»LPnAygL)
W bst) I CONCRETE| T0 MASONRY | 70 CONGRETE| 70 MASONRY | 70 CONGRETE ] T MASONRY | 7O CONGRETE| T0 MASONRY | T0 CONCRETE| T0 MASONRY | 70 CONCRETE] 70 MASONRY | 70 CONCRETE | 70 MASONRY | 70 CONCRETE| 70 MASONRY OF THEM E. D. = EDGE DISTANCE
8” N/A N/A N/A 4” N/A 8" N/A 5" N/A 3 1/2" N/A N/A N/A N/A N/A 1 (T0P)
12" 8” N/A N/A 12” 10” 12” 12” 12” 8” 11” 11” 12" 12” N/A N/A 1 (BOTTOM)
12" N/A N/A N/A 12" N/A 12" N/A 12" N/A 117 N/A N/A N/A N/A N/A 2 (TOP)
12" 8" N/A N/A 12” 10” 12" 12” 12” 8" 11” 1" 12” 12” N/A N/A 2 (BOTTOM)
12” N/A N/A N/A 12” N/A 12" N/A 12” N/A 11" N/A N/A N/A N/A N/A 3 (TOP)
12” 8" N/A N/A 12” 10” 12” 12” 12” 8" 11" 71” 12” 12” N/A N/A 3 (BOTTOM)
12" N/A N/A N/A 12” N/A 12" N/A 12” N/A 11" N/A N/A N/A N/A N/A 4 (TOP)
12" 8" N/A N/A 12" 10” 12" 12" 12" 8" 11" 11" 12" 12” N/A N/A 4 (BOTTOM)
12” N/A N/A N/A 12” N/A 12" N/A 127 N/A 11”7 N/A N/A N/A N/A N/A 5 (T0P)
12" 8” N/A N/A 12” 10” 12” 12” 12” 8" 11” 11” 12" 12” N/A N/A 5 (BOTTOM)
1" N/A 127 N/A 7 1/2” N/A 11 1/2” N/A 8 1/2” N/A 12” N/A 12” N/A 127 N/A 6 (TOP/BOTTOM)
+63.5, —63.5 10" N/A 12” N/A 6 1/2” N/A 10 172" N/A 7" N/A 12" N/A 12” N/A 117" N/A 7 (TOP/BOTTOM) | 9'-0" OR LESS
N/A N/A N/A N/A N/A N/A 12" 12" 12” 6” 6” 6” 12" 12” N/A N/A 8 (TOP/BOTTOM)
12” N/A 12" N/A N/A N/A 12" N/A N/A N/A 12” N/A 12" N/A 12” N/A 9 (ToP)
12" 8” 12" 12" N/A N/A 12" 12" N/A N/A 12" 1" 12" 9” 12" 10" 9 (BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 6” N/A N/A 12" 8" 12" 6" N/A N/A 10 (T0P)
12" 7 1,27 12" 12" N/A N/A 12" 10 1/2” N/A N/A 12" 10" 12" 8 1/2” 12" 9" 10 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 11" N/A N/A N/A N/A 13 (TOP)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 6” N/A N/A N/A N/A 13 (BOTTOM)
12" N/A 12" N/A N/A N/A 12" N/A N/A N/A 12" N/A 12" N/A 12" N/A 14 (TOP)
12” 8” 12" 12” N/A N/A 12" 12” N/A N/A 12" 11" 12" 9” 12" 10" 14A (BOTTOM)
12” 6" 12” 12" N/A N/A 12” 9” N/A N/A 12” 8 1/2" 12" 7" 12" 8” 148 (BOTTOM)
12” N/A 12" N/A N/A N/A 12" N/A N/A N/A 12" N/A 12" N/A 12” N/A 12 (TOP)
1" N/A 12" N/A N/A N/A 11 1/2” N/A N/A N/A 12” N/A 12” N/A 12” N/A 12 (BOTTOM)
12" N/A 12" N/A N/A N/A 12" N/A N/A N/A 12" N/A 127 N/A 12" N/A 15 (TOP)
11" N/A 12" N/A N/A N/A 1 1/2” N/A N/A N/A 12" N/A 12" N/A 12" N/A 15A (BOTTOM)
3" N/A 4 1/2” N/A N/A N/A 3" N/A N/A N/A 4" N/A 4” N/A 4” N/A 158 (BOTTOM)
12" N/A 12" N/A N/A N/A 12” N/A N/A N/A 12” N/A 12" N/A 12" N/A 16 (TOP)
11” N/A 12" N/A N/A N/A 1 1/2” N/A N/A N/A 12” N/A 12" N/A 12” N/A 16A (BOTTOM)
3" N/A 4 1/2" N/A N/A N/A 3 N/A N/A N/A 4" N/A 4” N/A 4” N/A 168 (BOTTOM)
6" N/A N/A N/A 6” N/A 6” N/A 6" N/A 6” N/A N/A N/A N/A N/A 2 (ToP)
6" 6” N/A N/A 6" 6” 6" 6" 6" 6” 6” 6” N/A N/A N/A N/A 2 (BOTTOM)
+65.0, —65.0 6" N/A N/A N/A 6” N/A 6" N/A 6" N/A 5 1/2" N/A N/A N/A N/A N/A 6 (TOP/BOTTOM) |9°-0" TO 10°-0"
6" N/A N/A N/A 5 1/2” N/A 6" N/A 6” N/A 4 1/2" N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 6" 6" 6" 6” 6" 6" N/A N/A N/A N/A 8 (TOP/BOTTOM)
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1,/2” EDGE DISTANCE. FOR E. D. LESS THAN 3 1/27,
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
(NOTE: Min. E. D. FOR CALK—IN ANCHORS IS 2 1,/2")
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. ANCHORS. LEGEND 7.D.1.—2003
ACTUAL £ D FACTOR — 0.050” SOLID BERTHA ;’4’LUM/NUM STORM PANEL ASSS:ILDEWN
| TANAC NALING, PANELMATE OR PANELUATE PLLS. o | CALK=IN  |cF TaP-cRiP ANCHOR TYPE ANCHOR (225" DEEF)
3" .86 .75 1.00 ot 1/17/05
- A Tt ot St euus, | 30" / liLlEcO v \ EASTERN METAL SUPPLY, INC owre
: . I, TESTING & ENGINEERIG CONPAY, 05-012
Phene : (305)87;-_51_550006F;X79 (305)871-1531 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
gk [ Yl ; : sveer 10 or 15




MAXIMUM DESIGN PRESSURE RATING "W”

.8.f.) AND CORRESPONDING MAXIMUM ANCHOR
SPACING SCHEDULE FOR INSTALIATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES

MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2"% APPLICABLE TO
MAXIMUM SECTIONS # & MAXIMUM PANEL
DESIGN LOAD REGULAR TAPCONS CRETE—FLEX SS4 ZAMAC NAILIN CALK—IN CF TAP—GRIP PANELMATES PANELMATE PLUS 410 S.S. TAPCON ANY COMBINATION LENGTH "L” (ft.)
W (p-st) TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY OF THEM
6" N/A N/A N/A 3" N/A 6” N/A 3 1727 N/A 2 1,27 N/A N/A N/A N/A N/A 1 (TOP)
12” 7" N/A N/A 11" 8” 12" 10" 12" 6 1/2” 9 172" 9 1/27 N/A N/A N/A N/A 1 (BOTTOM)
12" N/A N/A N/A 11”7 N/A 12" N/A 12" N/A 9 1/2” N/A N/A N/A N/A N/A 2 (ToP)
12” 7" N/A N/A 11”7 8” 12” 10” 127 6 1/2" 9 1/2" 9 1/2” N/A N/A N/A N/A 2 (BOTTOM)
12" N/A N/A N/A 11” N/A 12" N/A 12" N/A 9 1/2” N/A N/A N/A N/A N/A 3 (ToP)
12" 7" N/A N/A 11”7 8” 12” 10" 12" 6 1/2” 9 1/2” 9 1,27 N/A N/A N/A N/A 3 (BOTTOM)
+65.0, —77.0 12" N/A N/A N/A 117 N/A 12" N/A 12" N/A 9 172" N/A N/A N/A N/A N/A 4 (TOP) 9'-0" OR LESS
12” 7" N/A N/A 11" 8" 12" 10" 12" 6 1/2” 9 172" 9 1,27 N/A N/A N/A N/A 4 (BOTTOM)
12” N/A N/A N/A 11” N/A 12” N/A 12" N/A 9 1/2” N/A N/A N/A N/A N/A 5 (TOP)
12” 5 1/2” N/A N/A 9 1/2” 6 1/2” 12” 8" 10" 5" 7 1/2" 7 1/2" N/A N/A N/A N/A 5 (BOTTOM)
9 1/2” N/A N/A N/A 6 1/2" N/A 10” N/A 7" N/A 5" N/A N/A N/A N/A N/A 6 (TOP/BOTTOM)
8 1/2” N/A N/A N/A 5 1/2” N/A 8 1/2" N/A 6" N/A 4 1/2” N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 12" 6” 12" 6” 6” 6” N/A N/A N/A N/A 8 (TOP/BOTTOM)
9” N/A 12” N/A N/A N/A 9 1/2” N/A N/A N/A 11” N/A 12" N/A 10” N/A 7 (TOP/BOTTOM)
+65.0, —72.0 N/A N/A N/A N/A N/A N/A 12” 6” N/A N/A 12” 6” 127 6" N/A N/A 11 (TOP) 9’0" OR LESS
12" 7 1/2” 12" 12" N/A N/A 12" 10 1/2" N/A N/A 12” 10” 12" 8 1/2" 12" 9” 11 (BOTTOM)
6” N/A N/A N/A 6” N/A 6” N/A 6” N/A 6” N/A N/A N/A N/A N/A 2 (ToP)
6” 6” N/A N/A 6 6” 6” 6" 6” 6” 6” 6” N/A N/A N/A N/A 2 (BOTTON)
+62.0, =73.3 6" N/A N/A N/A 6 N/A 6" N/A 6" N/A 5" N/A N/A N/A N/A N/A 6 (TOP/BOTIOM) |9°-0" TO 10°-0"
6" N/A N/A N/A 5 N/A 6” N/A 5 1/2” N/A 4" N/A N/A N/A N/A N/A 7 (TOP/BOTTOM)
N/A N/A N/A N/A N/A N/A 6" 6" 6” 6” 6" 6" N/A N/A N/A N/A 8 (TOP/BOTTOM)
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2” EDGE DISTANCE. FOR E. D. LESS THAN 3 1,27
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
(NOTE: Min. E. D. FOR CALK—IN ANCHORS IS 2 1,/2")
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
ANCHORS LEGEND
FACTOR
ACTUAL E. D. REGULAR TAPCON, 410 S.S. TAPCON, CRETE—FLEX SS4 Min.
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. CALK=IN  |CF" TAP—GRIF) ANCHOR TYPE ANCHOR
il 86 75 .00 REGULAR TAPCON, 410 S.S. TAPCON, CRETE—FLEX SS4, 30"
2 1/2” 71 .50 .80 ZAMAC NAILING, CF TAP—GRIP, PANELMATE OR PANELMATE PLUS. :
2” .50 — — CALK—IN 2.5”

E. D. = EDGE DISTANCE

EB-0006719 REV. Mo

DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I".IE C O ne EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305)871-1530 . Fax : (305)871—1531 DRAWING No

WALTER A. TILLIT Jr. P. E. !

3

FLORIDA Lic. # 44167 2

4

SHEET 11 OF 15




1/4” 8 x 3" LONG LAG

SCREWS @ 6" 0. C. W/

1 27/32" Min. PENETRATION
TO EXISTING WOOD

HEADER.

REQUIRED

\
\
\
WooD HEADER)
\
\

SEE SCHEDULE FOR

—| Min. SEPARATION

TO GLASS

A

Max. PANEL LENGTH (SEE NOTES BELOW)

.@

/

REQUIRED

7/8" 8 x 3/32”
WING NUT @
EVERY STUD @
IEI i 12”7 0. C
g : 188
g ; PO sz |
\\ Cont
ARRS A \1/4" 0 x 37 1AG
2" x 4" PLATE SCREWS @ 6" 0. C. W/
REQUIRED 1 27/32” Min. PENETRATION
@ MIDWIDTH OF PLATE.
b |
SEE SCHEDULE FOR ‘ ‘ ‘
1
1/4"8-20 S.S.—] |
BOLTS W/ \ |
7/8"0 x 3/32"
WING NUT | |
@ 12" 0. C. | |
LA I
$ ’ Cont
T

'_-_',\—7/4" g x 3" LAG

SCREWS @ 6” 0. C. W/
1 27/32" Min. PENETRATION
@ MIDWIDTH OF PLATE.

ALTERNATIVE 3

177 x 2” x .125" (Min.) Alum.
TUBE W/ 1/4” ¢ x 4" LONG
LAG SCREWS @ 6" O. C. "

-

W 1 27/32" Min. PENETRATION
TO EXISTING WOOD HEADER.

1/4” 8 x 3" LONG LAG SCREWS
@ 6" 0. C W/ 127/32" Min.

1/4” 8 x 3" LONG LAG SCREWS
@ 6" 0. C. W/ 1 27/32" Min.
PENETRATION TO EXISTING

-

PENETRATION TO EXISTING WOOD

HEADER.
1k il /) /7
Q x 2
| 5| Q3 | 5| Q X
I S NX I S Y
s 2 2 N
o) o T ,, 8
— [
| ! T
3¢ i |
S A
Shi —(2) cont Sy
. _._. § - B ...' Cont

WOOD HEADER
REQUIRED

WOOD HEADER
REQUIRED

SEE SCHEDULE FOR
Min. SEPARATION
TO GLASS

I A
ALTERNATIVE

SEE SCHEDULE FOR
|— Min. SEPARATION —
TO GLASS

Max. PANEL LENGTH (SEE NOTES BELOW)

Max. PANEL LENGTH (SEE NOTES BELOW)

I I
|
. T
N ]
@ ET | |
A I I
” f] .
| | 1/478-20 s.s. o ‘,_®
y e~ |
\ ' -
. V1
‘ ] Cont. \ 1/4"6-20 S.S.
L BoLTs w/
8 Q wooD STUD - 7/8%0 x 3/32"
- '—E 817 x 4" x 125" (Min.) @ 24" 0. C. ' g”\’fz,{\”—g c
woon\ sTuD [FR—6063-15 Aum. TUBE (Cont.) REQUIRED
o 24\ 0 c ||| :ls « . .
REQUIRED HEE (2) 1/4" 8 x 4" LAG SCREWS , 1/4” 8 x 3" LAG
A\ ® & EACH STUD (MIDWIDTH : SCREWS @ 67 0. C. W/
OF STUD, 2" Min. NOMINAL) - 1 27/32” Min. PENETRATION
AND W/ 2" Min. PENETRATION A @ MIDWIDTH OF PLATE.

INTO EXISTING STUD.

ALTERNATIVE 4 ALTERNATIVE 6

WALL MOUNTING INSTALLATIONS

SECTIONS A

SCALE : 1/4" = 1"
NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

WOOD HEADER.

@ Cont.

1/4” —20 S. S. BOLTS @
12" 0. C. W/ NUT & WASHER

.500”

[Winant
i
T
3
1
50"
X,

3 Q=

2.00

WOOD HEADER
REQUIRED

SEE SCHEDULE FOR
[—— Min. SEPARATION —
TO GLASS

-

Max. PANEL LENGTH (SEE NOTES BELOW)'

ALTERNATIVE 7

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
—72.0 psf AND PANEL’S LENGTHS UP TO 9'-0", EXCEPT AS NOTED.

2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55.

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

433" 0. D. x .634” LONG BRASS
BUSHING W/ 1,/4” #—20 x
2”S. 5. S M s. @ 1270. ¢

FOR SPANS UP TO 5°-9” AND

s il

A
. 0 o
- ax.
#—-20 ELCO male/female
PANELMATE @ 12" 0. C. W/
1 7/8” Min. PENETRATION
FOR SPAN UP TO 9'-0"
>d |
e all
\ ||
8 A
S ]
S L1 I e OZ
Lrliz 1 S
WOOD HEADER | || @
REQUIRED @
| || S
SEE_SCHEDULE | | <
1 ror mn v
SEPARATION [ | N\
TO GLASS <
| | g
A AL g
—A— A §
T 2
1 <
| || =
| =0
el
NS
¥ un @ MIDWIDTH OF PLATE
N— 433" 0. D. x 634" LONG BRASS
BUSHING W/ 1/4” 6-20 x
2”S. 5. S M's. @ 12”7 0. C
wooD FOR SPANS UP TO 5’-9”
PLATE AND @ 6” 0. C. FOR SPANS UP
REQUIRED 70 9°-0" Max. OR 1/4”
#—20 ELCO male/female
PANELMATE @ 12" 0. C. W/
1 7/8” Min. PENETRATION
FOR SPANS UP TO 9’0"

ALTERNATIVE 8

EB-0006719 REV. Mo

DESCRIPTION

DATE REV. No DESCRIPTION

DATE

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
|||_ I ECO nc EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305)871-1530 . Fax : (305)871—1531 DRAWING No

WALTER A. TILLIT Jr. P. E. !

3

FLORIDA Lic. # 44167 2

4

SHEET 12 OF 15




WOOD TRUSSES OR RAFTER
@ 24" 0. C. REQUIRED

"x 4" x 1/8”
Min. (6063—T5)

Alum. TUBE W/
=g 20 (2) 5/16” 6 x 4"
,, - LAG SCREWS TO
R A —) EACH JOIST.
@ 6'" 0. C ’ ‘ ‘ ‘\ Cont LOCATE SCREW
| | AT MIDWIDTH OF
—4— | N EXISTING WOOD
MEMBER (2" Min.
NOMINAL WIDTH)
le=mer) 1O ) 2 i
TO GLASS ‘ A ‘ ‘ PENETRATION.
- r v
ALTERNATIVE 9A
7/8" x 3/32" ’@
WING NUT @
EVERY STUD 2" x 6”
@ 12" 0. C. WooD DECK
REQUIRED
. . (NO FINISH
Cont. 1| R 3 ALLOWED)
R R
= T
!
= \j
—\

P
/7/4”¢ x11/2"

@ 6" o.c.

LAG SCREWS

ALTERNATIVE 9

WOOD TRUSSES OR RAFTER
@ 24" 0. C. REQUIRED

| |\7 ” x 4n X 7/8"
# 14 x 3/4” X T Min. (6063—T5)
5.5 S M S — Alum. TUBE W/
@ 6" 0. C. [SIS 2) 5/16" # x 4"
RE | LAG SCREWS TO
' EACH JOIST.
Cont. | Locare screw
| AT MIDWIDTH OF
SEE SCHEDULE FOR EXISTING WOOD
Min. SEPARATION ‘ MEMBER (2" Min.
TO GLASS NOMINAL WIDTH)
| | W/ 2” Min.
@* PENETRATION.
7?4 " 4-20 x y
3/4" BOLTS W,
7/8"0 x 3/32~ ‘ ‘@
WING NUT ‘@ 2"y 6"
1270 ¢ WoOD DECK
N REQUIRED
(NO FINISH
ALLOWED)
Cont. /_
S >

@ 6" o.c.

/_, EQ_|L£Q
/4’8 x 1 1/2" LAG SCREWS

ALTERNATIVE 11

CEILING & FLOOR MOUNTING INSTALLATIONS

SCALE : 1/4” = 1”

NOTE FOR COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

-

\
1/4"8-20 S.S.
|-7,47
[ goirs W/
7/8% x 3/32”
| wive ut
\
\

@ 12" 0. C.

A [

EQ EQ

SCREWS @ 6" 0. C. W/
1 27/32" Min. PENETRATION

2" x 4" PLATE] @ MIDWIDTH OF PLATE.

REQUIRED

!

ALTERNATIVE 12 x

x VALID FOR Max. +63.5, —63.5 psf.

-®

7/8" & x 3/32”
WING NUT @
EVERY STUD @
127 0. C
A r
&
8' *‘250'
T I Mox.
Cont.

'_-_,\—7/4" 2 x 3" LAG

SCREWS @ 6" 0. C. W/

1 .27/32” Min. PENETRATION
@ MIDWIDTH OF PLATE.

REQUIRED

/
ALTERNATIVE 14

WALL MOUNTING INSTALLATION

SCALE : 1/4” = 1”

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
—72.0 psf AND PANEL’S LENGTHS UP TO 9°-0", EXCEPT AS NOTED.

2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55.

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
I"_ I ECO nc EASTERN METAL SUPPLY, INC DATE
: 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305) 57;'_51—5-5%06/‘—;)(79 (305)871-1531 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P. E. ! 3
FLORIDA Lic. # 44167 2 y SHEET 15 OF 15




-

1 7/8" Min. 2" EXISTING

~ BRICK VEENER "#x8”
PENETRAT/OIH ‘ MOX'T I / Bt s wcHoRs " o 1/47 8 x 3" LONG LAG b —— 1747 8 x 3" LONG LAG
' [ @ 12" 0.C. T\ NI SCREWS @ 6" 0. C. W/ T\ ; SCREWS @ 6” 0. C. W/
| 4" % 8" (Min) EXISTING 3500" |1 27/32” Min. PENETRATION |1 27/32” Min. PENETRATION
£ WOOD BEAM REQUIRED. \ TO EXISTING WOOD . TO EXISTING WOOD
STRUCTURAL ADEQUACY | HEADER. .| HEADER.
OF EXISTING WOOD . .
., . e BEAM TO BE CERTIFIED ; N )
L%" ) @7;,/ 2,55 BY REGISTERED ENGINEER \ b/ § .- 7/ . // .
o.c. EQ OR ARCHITECT PRIOR LN\ _ N 23 T _ 15 RE 7 s %
TO SHUTTER INSTALLATION. /7 — i N = ' T8 N@ 8 N3
NE woop : 88 ga |l
| WQ s HEADER— | \ \ || S5 B Cont. <SS\ o ‘—@ Cont.
B oL REQUIRED | . R meng BN \ ]
N
R | ousmve . o S o
| | % STEEL ANCLE LINTEL | | WoOD HEADER| . g WOOD HEADER| |
\ AS APPLICABLE N
N
| \ \‘@ s I | Yo REQURED | | (1) 0 REQUIRED | | “@ 3
~ o
o | g ! N - : e sopue| || :
. o SEE SCHEDULE SEE_SCHEDULE | | | w in. | %
TO GLASS % \ FOR Min. | || - FOR Min. |_ i SEPARATION S
N 8 SEPARATION N SEPARATION | || ~ TO GLASS | =
v 2 || TO GLASS | | EB.J TO GLASS x . . by
ALTERNATIVE 15 & ] N - 5 o zps [T ] :
g 5 oAl = RS
E | A, AL S o N . 5
2 I v Mam y 4 s G N - g
A ~ 1 \ | e -1 =
T 2 - x g
| | < [l \ | S EX/ST/NG/ -1,/470-20 S.5.F @\ g
Q | | g GLASS BoLTS w/ 1/4"8-20 S.S. ;
| | % | . - & 7/8% x 3/32" BOTS W, oo
" ” g I WING NUT V-7/8"¢ x 3/32”
;V/HscﬂNXU ;3/(953? ‘ | ] | L E% aﬂ @ 12" 0. C WING NUT
EVERY" STUD ‘ ‘ EXISTING . /E TS @ 712”7 0. C.
EVERY, STUD | ‘4 D) 75 ] BRICK SILL | | \@ E L L ) c.
cont, (. | | o pLATE L \ ] X =51 L / T
ALTERNATE LEG o e - Sl
LOCAT/ONM_, 35 | &8 ). \ || F N 8: Sy
— . ; . e as| 1] | N2 x 57 146 & | X
B - 1 7/8" Min. ‘ APPLICABLE | | SCREWS © 6" 0. C. W/ i B \—7/4" ¢ x 3" LAG
- PENETRATION AR 1 27/32" Min. PENETRATION i e, , W
| ] o] ‘ \ \ | 2 jedumed |||l @ mioworH oF PLATE oo 2§/§2?M?n. 0/-;’EI5'ETR£TION
” -] —1\ | || PYAMI @ MIDWIDTH OF PLATE.
fVOSDaDECK L7 S0 x 1 1/2° LG SCREWSX = ] - REQUIRED -_--. INTERIORLY REMOVABLE PANEL(T) W/
REQUIRED @ 6” o.c e ! - SIDEWALK BOLTS (SEE DETAIL 2)
(NO FlN/fH EXISTING 1 L] . CONNECTED TO THRU 5/87¢
ALLOWED, 2" x 4" STUDS | \ '-' HOLES AT (11) @ 6” 0.C & FASTENED
ALTERNATIVE 16 % 5 1o 32 250 A G ALTERNATIVE 18A * D Sk e
in. 2 © EVERY SIDEWALK BOLT.
o REQ'D (TYP) W/ FASTENING BRICK SILL /1 /4% 550 x 3/4" ALTERNATIVE 18B x
1/4°0x8" ELCO male PANELMATE TVAS ch_CShTé/AL/?SZQOAQS (DPERTHE BOLTS W/ 7/8
ANCHORS @ 6” 0.C. TO EXISTING PLYWOOD g
CEILING & FLOOR SOUTH FL_BULONG CODE o WALL MOUNTING INSTALLATIONS
MOUNTING INSTALLATIONS ALTERNATIVE 17 * SECTIONS 18 & ypy1ip FOR Mox. +65.5, —63.5 psf
SCALE : 1/47 = 17 * VALID FOR Max. +63.5, —63.5 psf. SCALE : 1/4" = 1" - 7059, 700 -
— BUILD—OUT INSTALLATION INSTALLATIONS VALID FOR PANELS (1) USED JOINTLY
: SCALE : 1/4" = 17 WITH INTERIORLY REMOVABLE PANELS

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

7.D.1.—2003
NOTES: 0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,

—65.0 psf AND PANEL’S LENGTHS UP TO 9'-0", EXCEPT AS NOTED.

1/17/05
2. NEW 2” x 6” P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH I I DATE
19 Z M. M. C. W/ SPECIFIC DENSITY OF 0.55. / IL E C o INC. \ EASTERN METAL SUPPLY" INC

9400 TELGE ROAD

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-01712
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. 6595 NW. jﬁ"}_,gg-)'a;‘?;i ,g;gk’;"g""f‘ggg%i"'ﬁ [ p31ee DRAWING No
EB—-0006719 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE
WALTER A. TILLIT Jr. P. E. ! 3
FLORIDA Lic. # 44167 2 y SHEET 14 OF 15




1/4"8 x 1 1/2” S.5.—]
LAG SCREW @ 4” o.c.

1/4"8 x 1 1/2” 5.5
LAG SCREW @ 4” o.c.

4" x 8” (Min.) EXISTING

—+ ALTERNATIVELY, TRACK @ MAY BE ATTACHED
TO HOLLOW CEILING AS PER DETAILS SHOWN

WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOOD

BEAM TO BE CERTIFIED

BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

(+)

SEE SCHEDULE

/ . FOR Min. __|
EXISTING SEPARATION
GLASS TO GLASS

-®

7/8" ¢ x 3/32"
WING NUT @
EVERY STUD
e 12" 0. C

EXISTING /
GLASS

Max. PANEL LENGTH (SEE NOTES BELOW)

/478 x 1 1/2” LAG SC‘R‘EWS/

@ 6" o.c.

ALTERNATIVE 19A

CEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 19

.1875"

@

SCALE :

SEE SCHEDULE

FOR Min.
SEPARATION GEZ(,Ll\SsgNG/ SEEFOS/S'HAEQULE
T . in. |
0 oSS SEPARATION
N }_/\,_‘_‘ 7O GLASS
] DETAIL 2 ]—V—'—y

ON ALTERNATIVE 9A, SHEET 13 OF 15.

1/4"8 x 1 1/2” S.5.—]
LAG SCREW @ 4” o.c.

0.25"

/4" x 1 1/2” S.S.
LAG SCREW @ 4" o.c.—|

—— 4" x 8” (Min.) EXISTING
WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOOD
BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR
TO SHUTTER INSTALLATION.

(+)

N Cont.

N
@

Max. PANEL LENGTH (SEE NOTES BELOW)

|
RO,
|
|

——7/8" 0 x 3/32"
WING NUT @
EVERY STUD
@ 12" 0. C

Cont.
ALTERNATE

SEE SCHEDULE
FOR Min.

EXISTING /
GLASS

TO GLASS

-

—7/8" ¢ x 3/32"
WING NUT @
EVERY STUD
@ 12" 0. C

Max. PANEL LENGTH (SEE NOTES BELOW)

ALTERNATE

|~ SEPARATION — |

O

— DETAIL 2

WING NUT @
EVERY STUD
@ 12”7 0. C.

—7/8" ¢ x 3/32"

Max. PANEL LENGTH (SEE NOTES BELOW)

XLEG LOCA no;vﬂz

2"y 6"
— WOOD DECK
REQUIRED

= on 6"
— WOOD DECK
REQUIRED

2" x 67
WOOD DECK
3 REQUIRED

1/4% x 1 1/2" LAG SCR‘EWS/
5K

1/4” = 17

1/4"-20x1" S.S. SIDEWALK BOLTS,
W/3/4” SLOTTED HEAD, FIXED TQ

INTERIORLY REMOVABLE PANEL@

ALTERNATIVE 198

L wreriorLy rewovasLe PANEL (D) W/
SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED To@ THRU 5/8”0

HOLES AT (1)) @ 6” O.C & FASTENED
AT REAR W] 7/8"#x3/32” WING NUT
@ EVERY SIDEWALK BOLT.

o.c. @ 6

1/4"0 x 1 1/2" LAG SCREWS

o.c.

ALTERNATIVE 20A

INTERIORLY REMOVABLE PANEL (D) W/
SIDEWALK BOLTS (SEE DETAIL 2)
@ THRU 5/8"¢

@ 6" O.C & FASTENED

CONNECTED TO
HOLES AT

7
@ 2" o.c.

AT REAR W/ 7/8"ex3/32” WING NUT
@ EVERY SIDEWALK BOLT.

CEILING & FLOOR MOUNTING INSTALLATIONS

NOTE FOR COMBINATION OF SECTIONS:

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SECTIONS 20

SCALE : 1/4" = 1"

ALTERNATIVE 20B

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

THRU KEY HOLE (2) @ 6” 0.C.
W/1/4"-20 NUT AT REAR.
7/8" 6 x 3/32" L REMOVABLE
WING NUT PANEL
@6 0. C &\ | |
. ] { | |
> . I s | |
] il -INr R
lg ¥ — *:*\ h ‘ ‘
| = | | |
/ \ \
1875"—
A

SCALE: 17 =

NOTES:

1.

2.

INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
—65.0 psf AND PANEL'S LENGTHS UP TO 9°-0".

NEW 2" x 6” P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55.

FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

2" x 6”7
WoOOD DECK
REQUIRED

/476 x 1 1/2” LAG SCREWS

7.D..—2003
0.050” SOLID BERTHA ALUMINUM STORM PANEL AS SHOWN
(2.25” DEEP) SCALE
1/17/05
|||_ I ECO nc EASTERN METAL SUPPLY, INC DATE
. 9400 TELGE ROAD
TILLIT TESTING & ENGINEERING COMPANY HOUSTON, TEXAS 77095 05-012
6595 N.W. 36th. St., Ste. 217, VIRGINIA GARDENS, Fi. 33166
Phone : (305)871-1530 . Fax : (305)871—1531 DRAWING No

EB-0006719 REV. Mo

DESCRIPTION

DATE REV. No

DESCRIPTION

DATE

WALTER A. TILLIT Jr. P. E. !

3

FLORIDA Lic. # 44167 2

4

SHEET 15 OF 15




